= (x-2)+x+(x+2)=66

= 3x=66

==

AT AN B =x+ 2 =22 +2 =24

¥\, B 1 km

2 km

lkm O

HA: oI S 2 Fop . sTxash o o |
¥5, | € | The arms move clockwise in turn 45°.
¥| D |8B-6+2=4
(lowest number of 1t column)
12-5+48=15
(lowest number of 2 column)
13-10+15=18
(lowest number of 3t column)

Therefore, =15

Xo. | € | =

FEar

NASA 31"] qH gt E'WEZ‘F -

A)R B) 3 C)¥ D) ¥
. wHEwl T s favae @ dwend fafes 2
A) ST - B) wafEan C) sf&ror saft D) S|

3. Sl T TR OEOTe §9 SEREET 996 |
A famamfe B)SWemfs O W9 D) I=fe
¥, wEwer adt AT wos R & 8t 2

A) FaE B) dage C) uiics D) Wer
Y. T gddiy guw wE Qe w ?

A) 9r@T B) &al C) gl D) @EEER
¢ uftn, sty anfe freel gewe mwe T 7R T st & whes 0

A) sufge B) Afas C) e D) difeas

Y0 ; E@fER Yo - AT, TwearwT arft



100

=20 * 100% = 250%

5.

The figures on the outside transfer to the inside and change shape and
colour. So, a white circle on the outside becomes a black triangle on the
inside.

R®

In each row, the reverse of the squares of the first three number give the
last three numbers.

In second row,

92= 81 whose reverse is 18,

%O,

A 1| [are 2| [ 3
| 3 & 4 [| s
gewtl 5 || 4 || 3
T 9YH 33 9 HIF Graah! W& FeRd TS | 86 goe! T 1few g
FETUM TH AR A Graoh! Y&A THF g9U8 | o STaTdTaH a9 arahesh
GraeTn! WA UM SIS GEeh! STUIGT T GEAEeels 3 o 9o Sisd! Sruae
T HEAEEArE 5 o oA T |

e 1| [ahe 2| [srae 3
goh! 9 Bkl 32 I} 15
qfemt| 25 [ 20 [ 15

HETF I8 = (25-9) : (20 - 12)

=16:8
=21

T, (A + B) & W & x faw G |

|AR 15Tl e + (A+ B) Pl 4 et sl = 1

7% .
= 17 x"

= X110

o
7 Xmigmilig

¥R

fedunt v v S ufiue B T ufRel JERETE USiel ek 310 STENEE SHUeT
Hfg s iR o |

¥3.

XY,

% row I, centre dot T circle T&TE A1 98! square M transfer T B |

Lt S

It is a sequence of letters missing out those letters which are made up of
straight lines only.

¥%.

al we 9 0

M (S) = 3NFa (A) + 44
= S=—§'+44

= 25=44x3
= S=66

@fE@T Yo - 2T, gherarar @rft / ¥R



90.

9.

R

9z

9%.

9.

1%.

qe.

mmmv&mmmmml
i) TR fiersh! ST SHSA S s o g
if) WWWWWWWWhQI
i) Tl Af SR fewren TEer ok i |
A) i, ii T iii 5 B)iii VivAs  C)iTivee  D)iiium
mmwmﬂmm%m@a ?

A) IR B) T&i C) daee D) #rRE

e Ff ‘g agEcE duw W g 2

A) TETS TUFeA B) ¥ |9 C) fem ara=t D) 3o fopy fae
AT UCN 1 qem st s 3Re qamemmr o 2

A) F9R’%0 B) E19’%Y% C) ¥ =000 D) ¥ Rooy

n#ﬂwammmnﬁwwmiaﬁw ?

1. §9 R09R A1 RS SREH @ W

2. HRA TEREH FROR

A) S B) 19 C) 29 D) ¥ |
@a‘mmﬁwmmmmmmm%mmmmw
T q 2

A) 35 B) ol C) =i D) qisf

T WARarR fae i |

9. 9 foreafaemer sram @918

R. ST T forvafrmems stame SfFdm @R 5 |

A) T | B) RAFwH C) zaud D) 33 e
TTEN GFE, 0% ® HT T B 2

A) S uiEdd  B) eRae ™ C) 3 faery D) TehIY Sqa&q

SreT RreeTE |

a. WEW YIERTT 000 1. Wi ggamw

b. SFEFETT g 099 2. ¥39 TR AT

c. TgH it QrEAT W 009 3. woi Rriwoft ey smamd
d. 7 *ft il gREwRTe 0u0e 4. ¥ IE™

A) a-2, b-1, ¢4, d-3 B)a-2, b-1, ¢-3, d-4 Cla-1, b-2, ¢-3, d4 D) a-4, b-3, c-1, d-2
maﬁmaouaﬁﬁﬁwﬁﬁmmmmﬂﬁqﬂa ?

A) 91 9% fE vy T B) 911 93 3@ ¥q g
C) 9 9% 3f@ ¥& 7w D) 4RI 9% 3@ ve gy
T 1 T g 1 € s fred ieae wft I9¢ o |

hil il (8 1

a, Hfw gmqr 1. Ao gt

b. SR fE gm 2. SremgrEt

¢. R TR HR 3. St frea

d. T fFres 4. Toryeirde freen

A) a4,b-1,c-2,d-3 B) a-2,b-4,c-1,d-3

O a-1,b3,¢c-2, d-4 D) a-4,b-3,c-2,d-1

=T wo - AT, wwEwETET AT %9



9.

R,

Ro.

oo

R

CER

Y.

W.

Q.

Q8.

Rz,

G TSRS G S8l 9 &1 Biee |

q W CEUEaeTE dttge i o Wi |

3 WEE JEOSRTRAER A GAAT, e T aegea B |

3. AR TEEST @9 q95] AT WEw! famn

¥, wTEE e afs Affeae S e e S B |

A) QIR AT B) §a &
C) 9, RI3TFTTE D) Hifeen §a TE
FeEERT JARTET FqAHT ATUTCAT T TE S ?
A) forg @ren : Ieanfare fewme B) T Shviiell : TEE -
C) Hren @ren : Rrafers w6 D) TrgE g : et
fad. votc M 09z AT FH qT AR TAREAT FA QWD ?
A) G069 B) 3%,29,39%
C) {0,454 D) 8,39,9%
e fafer eEEE sitet e |
a) fafre 1. g@a
b) g 2. g
¢) Eiww 3. g
d) far= 4. TEE
A) a-3,b-2,c-1,d4 B) a-2,b-3,c4,d-1
C) a2, b4,c-34dl D) a4,b-2,¢-3,d-1
HAATIT T AgdE Hid MeT aw T D ?
A) YRIFX B) RI®EH C) wR3fmH D) RIFH
farraaT R -9 T Erwal S T EA 9 O ?
-\ "rsrar arw fufy
q) ufes fgy - PreIR ST, T2l - TIYRR
) T EEES NS - S B - FAfeE, Tl - T Q¥RE
3) Wt - ¥ ST, AT - T {400
Y) arefen - FATA W, Aad - G955
¥) =R gE "~ TS, T - FI/N

A) 1,3, 3ITEEH B) RZYAAT  O) ¥,9 T3 AE §E D) W9 wE
7T TER M@ (AR TAOAT FEgw W g ?

A) fad. 9595 TN B) fad. qs9% 38 K
C) fad. 9% TEA3Y D) fa.¥. 989% FER WL
AU TEET §AH FTEETE AU FEET e Ay ey ?
A) it 4 gesERfashn weeE B) it fraivrgs fash we
C) T SRR D) W= fax farm W

AT G i WA e S e T we W 2

A) TIIREYL, T B) WRG, T ) IR, WE D) T §38&, A
ﬁzaﬁmﬁaﬁﬁmm,mﬁmm,ﬁmﬁmmmﬁﬁmﬁm

%l T8 ? ' :
A) TR B) seeYr C) AU D) Y

ﬁzmuﬂméwm,ﬁ&mﬁméﬁw&tmmaﬂﬁa@r@@?

A) TEE B) u®& C) WR D) fo=g

43 , @RI Yo - U, AHSATEH! qTAt



R,

Jo0.

1.

R

EES

3¥.

.

HﬂﬁmWQOWOWﬂW@mmwmﬁ@?

A) foeTr B) ®9=gl C) =B D) ®eeAR
ﬁﬂmwuﬁuﬁﬁmqﬁwmm(ﬂm@mmﬁmWW@W
foreg = =T g 2

A) IRRAMERA B) =R i C) Wi D) &R

Company| Postcode [Type| 1D)

Griffiths | SW14PN| A |623940

Swanns [GL1H 7GH| K (153050

Parlor | TL79HG | S (993516

Griffiths | SW1 PN 623940

Company |Postcode | Type L.D)
A
K

Swanns | GL1 7GH 153050

Parlor |TL79HG| S 1993516

mﬁﬁmaﬁamm—mmmmnﬁ@aﬁuwmﬁm

THER | awife e Fomee sqer R Tow e

A) e FrR T I B 9 |

B) 4% postcode W1 qfe® w |

C) A typemIALB A1

D) fXLD) M I D W | '

TF dferat 10 Fer firemee wet Tfeger o | ofer 5 a1 fireman ot witost & Wy oty
firemese @l B wmmmmmzmmmwmmm
gaTen afers ?

A) 2 B) 3

C) 4 D)5

®|| |[O][«][O][ ]
U9 AHA (series) AT AN ! A H &Y 7

el®] ][O

wémaéﬁsz1a§mmoluﬁ1soaﬁmﬂﬂﬁaﬁmwm?
A) 371 B) 210 . :
C) 150 D) 510

Q&aﬁﬁéaﬁﬁrmémmzs% R §70 | T« T Hlea T T FAGIR I
Ffr gD ?

A) 2:5 B)5:2

C) 8:15 D)15:8

@RETT Yo - &2, g ardt , 43



ELH

9.

3z.

R

=

¥9.

7= faguwr om0 |

islo

isto:

C D
%4 % fifted g WIRn COULD &1 BNTKC 3fes W& MURGIN &% ®g wiwn &
aﬁtﬂf?
A) LTQFHM B) LNKTMF C) CHIFKT D) TKHCMF
45mwﬁmﬁ§&$ﬁ16m«iﬁlmm§cwwmm; 30 W1 fehge
aftg wa ater &l @i e afes &= 2
A) 5 B) 6 Q7 D) 8
UET 299 T [IET GElR G a0 5 : 7 B | AR FE T Jaww 59 W : 20% T 10%
& TETEY A WA TEUEER! AU AU B §FO ?
A) 16:17 B) 55:84 C) 60:77 D) 47:57
Iuger fae Bete T Aoft g TR |
368, 406, 452, 494, 538, ?
A) 596 B) 696
C) 796 D) 698
s arfige Wt T (odd) smfa 9 & ?
A B C D E

— =
m R
=
‘§ i Im =
& =
A) A B) B Qc D) D

yY ; @RER Yo - AT, TR A4



¥R. OF aewE 21 3 3E 84 W NG T A sl @ 2 T aedo W gEEy 21 o

¥3.

XY,

¥y,

g,

¥\,

Fhhg afowr siea =f g7 2
A) 24 B) 24
C) 44 D) 54

AIQQA
QIAIQ]A
0 0
O A

Which is the missing segment?
Al
(A)

0]A
A

Q

DI>EDI>

(©) (D)
T WX FA A W gfereqmow wew g 2
A) PLANE B) PAINS
C) ENEMY D) FRIEND
af? SPIN =52, LIST =51, CALM =91 % LOAD = 62 ¥T LAND = ?
A) 61 B) 71
C) 81 D) 91

mwmmmisﬁmm:wmmzsaﬁmﬁﬁm
mhﬁﬂﬂa?mmqlmmwﬁrmmmm?

A) 34 B) 35
C) 36 D) 38
20 31
30 gl 23 22 15
43 17
17 26
11 13 1 18
24 18

@ Yo - A, gweamy amdt / Yy



¥g,

¥<.

10,

Iuger fawer Bte T @t I R |

A) 12 : B) 14
C) 16 D) 18
TR AT F FeT TS B ?

A) 12 B) 13
C) 14 D) 15

ATefy R T 30% I ag@ Rt aREOEn 209 W OFH AT WX R amaw S
(Sales revenue) ® §9 ?

A) 10 % A 5@ B) 3% & 9B

C) 4% & 9B D) 5% ¥ @

A T B UF @y qd-uftem agwAr gh-sntEe 20 frever gimn awe wi Ifee e 1A T
B@mm:qétwﬂmﬁﬁamﬂtgﬁs%ﬁqﬁmﬁ1ﬂsﬁaam=l‘t
amatad i 10 frsd. Bzt an B @ww afewn st q@t aF AiferT 10 st fE=mr
W@mﬁmm&mmnﬁmsﬁﬁ.ﬁ.wmﬁlmwm

frmr A R B ?

A) 30 fw. B) 20 fe .
C) 10 fw.t. D) 5 fer .
IJTRGoABT
. D D 3. B ¥ C % B % D e D o A . B 0. B
A |[RA [1]C €. A S © 1%. C 9. C |9 D |RC 20. B
9B |B |3D |WA |[MA [%B |[A [3wB |RB jB

qEer difgs TiEeT

Q.No. | Key | Explanation

M. | B | <9 == Postcode T Ffe B | Fe, faehed (B) W& SR @ |

2R | A | 30 e SITT e Tt Aa FeH] Ge T ST e A

m|meWMﬁuﬁﬁmwﬁtﬁaﬁﬁm
umﬁmﬁluﬁmtﬁﬁmmm@mm:amﬁ
fireTess gaq €& 2§98 |

ey
L A A A A \WAWiWiWAW/

- - WWU W W W
EER B | v91% alternate box T3 circle e 3 ¥4 Wi a4l box T black dot BRI S|
3¥. A

150 Aok 99 WX W1 Haes 150 HEY et |

. Hi% HEUH 9@ = (521 -150) =371
34, | D | 5FI, CP =100 TR '
YEAIER,

1%

/ @RET Yo - AT, AHATERT aret



2
SP=MP'&=':T§

= 100 x 17050 =MP "%
= MP =§%
MP:CP =3_;§': 100
=375:200=15:8
3, B | S rectangle right q@a rectangle 93 move T8 T wav=r SRR
; rectangle HI9=T IR 515 |
W | A | ReTH 9= TS F87E 1 step W HIE TR B |
3=. | B Men (M) Days (D)
45 (16-6) =10
45+30=75 X
M:D; = M:D,
= 45x10=75xx
45 x 10 -
== X= 75 =6
EAS B e 4t
WH = 5 :
1+10% 1+20%
110 120
afger — 5 x 00 G 7 X'ﬁd-
St : 84
¥0. | A | Add the number formed by the first and last digits each time, so 538 + 58
= 596.
¥9. B | Inall others, the top and third segments are same, =]
¥R | C | 205 3frnt ofea @R x 9
20x + 84
"_‘—'—21 =xX+2
= 20x+84=21x+42
= X=42
21 31 2frg fowl i = 42+ 2= 44
¥ | D | 4fecl row 1 St SR, S row @rmﬁmzarﬁ#qammw
YY1 3 9 symbol 8% A repeat YU 251 WH | :
XY, D | PLANE — NEPAL
PAINS — SPAIN
ENEMY — YEMEN
¥L. | D |v3% v wﬁmmmtmﬁmmﬁ@tmwﬁ

9159 |




¥%. | D | g aEtemehl % = 13+3 =16

T TEteTes! % = 23

T=(L+R)-1=(16+23)-1 =38

¥, | B | In each square, from the sum of top and bottom numbers subtract the
sum of left and right numbers to obtain the middle number.

(26+18)—(11+19)=[14]

¥g, | C

wa | || smegfa
= (22+12) =57

e
=>(2x5]—1=9?=|1‘i
- st = (5+9) = 14
e T t@xﬁﬂq@ﬂ:ﬁﬁaﬂﬁm

T TRt GRETo | fershl sTaahl A
Sl 10 10 100
13 8 104
aavT® gfs = (104 - 100) = 4%
40. c -———i——"‘

R +—ase——Q Z'—ete—Y

5 km 5 km

10 km 210 km

A:._S_.k’ﬂ—-P x_._.-.-——.Skml B
L 20km
amava® g (RZ) =RQ + QZ

=RQ+(QY-ZY) -
=5+ (10 -5) = 10 fRAL.

iv) ST HETRYTET @Y weaT @Y 3w & & | ‘

A) i, i Tiv A B) i, ii Tiii 7 W C) ii T i 7 W D) wrfrehT T Wl
3 ﬁﬁﬂﬁmwﬁmtmmmﬂ?

A) @y B) @& C) ¥y D) o7 febsmr

K:/aﬂ?r{ao-ﬂz,mmﬁm



